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Note :This paper contains FIFTY (50) multiple-choice/assertion/reasoning

questions/matching questions. Each question carries TWO (2) marks.

Attempt All the qu;estions.

A8 L waRAuAHD v (wo) r»tgl?iac-iﬂzt Waell, ‘URVIG AL W A Rssl siladiel
wadl . i waAL il aviadl 8. delds w8 () a B,
1. Increase in investment will shift 1. 3ol Risteed i aall . SE
curve : Widy wy § (wd 8).
(A) The LM curve downward to (A) el etzell LM as 13 dré wi
the right )
(B) The LM curve upward to the (B) stoll stogell LM b GY2 d2s Wit
left ' '
L
(C) The IS curve upward to the
. - (C) el oiogell IS as Gul s v
right _
8
(D) The IS curve downward to
the left (D) stoll ouzgel IS as A s WA 8
9. To what range, the Economic 2, 2016-17 4 s udaat 2igau curdls

Survey 2016-17 has projected the
growth rate of the Indian Economy
in 2017-18 ? |

(A) 6.5 — 7.5 percent

(B) 6.25 — 7.25 percent

(C) 6.2 — 7.2 percent

(D) 6.75 - 7.25 percent

Economics-I1I

wefciani 2017-18 - ay W2 was qlé
g2 beal (Rl vislyaml 2wd &7

(A) 6.5 — 7.5 a3l
(B) 6.25 — 7.25 25l
(C) 6.2 — 7.2 a8l
(D) 6.76 — 7.25 sl

[P-TQO.]



The returns to scale in the
production function Y = K96 1,05
are :

(A) Increasing

(B) Indicates wide fluctuations
(C) Decreasing

(D) Constant

The fiscal deficit as a ratio of GDP
for the year 2017-18 as per the
Union Budget_2017 is :

(A) 3.0 percent
;(B) 3.1 percent
(C) 3.2 percent
(D) 3.3 percent

Simultaneous increase in

unemployment and inflation is

called :
(A) Stagflation

(B} Hyperinflation

* (C) Deflation

(D) Natural rate of unemployment

Economics-II

3.

4.

Gewet QAU Y = KOS 105 & gevy

A,
(A) dad gix B
(B) R 2 Auqie suld &
(C) 4eg Siu &
(D) Ra: ¢y 8

edllu vietruat 2017 Hi 8L i R

AT sl g 2017-18 Hi 3ol &7
(A) 3.0 231
(B) 3.1 2s1
(C_) 3.2 24

D) 3.3 asl

Astl A goudl iy qail ad
(A) gour~y a5

(B) wu 26\l goud)

(C) gouam qéls?t (12145 goual)

D) geadl Asl g2



What is PARA, as per the Economic
Survey 2016-17 ?
(A) Public Sector Assets

Reconstruction Agency

(B) Public  Sector  Assets

Rehabilitation Agency

(C) Public Sector Addition

Resource Generation Agency
(D) None of the above

The collection of all possible
observations of a specified

characteristic of interest is called :
(A) Purposive Sampling

(B) Population

(Q)- Convenience Sampling

(D) Random Sampling

Economics-II

215 uda@ 2016-17 wquz PARA
g &7
(A) woels Aser sy ANs-gsud

AL |

(B) woells dAsey A2y Asofldl2uq

vl

(C) woels A2 AGlu AR 3

ENLE |

(D) BuHid, 55 dl
oYRAL &g M2 AsBL $3¢ AL ABUH

adlsl ......... sdai wa 9.
(A) dgasll Mesdw

(B) aufae

(C) ugart Medn

D) ugxs Redd

[P.T.O.]



10.

What are the major objectives of

Indian Planning ?

(A) Self reliance

(B) Employment generation
(C) Economic growth |

(D) All of the above

Charging a different price ih

different markets is called :

(A) Price discrimination

(B) Second degree price
discrimination

(C) Third degree price
discrimination

(D) Perfect price discrimination

What is the current income tax slab

. for zero tax rates ?

(A) Upto Rs. 3 lak};s
(B) Between Rs. 5 and 10 lakhs
(C) Between Rs. 3 and 5 lakhs

(D) Between Rs. 3 and 7 lakhs

Economics-II

8.

10.

oMl %L e GRall suL 7
(A) deial

(B) Upould ur

(©) 2ulls cg[%{

(D) GUR-AL elaw

it Rt oMl el %€l (ol

q¥A sl oA ......... sdalHl
A 6,

(A) Bud sleeiq

B) [dlu saunl Bua desiia
(C) ddly sau-il (Bxd slecud

(D) yd BHa Heeua

i 5% Hle sl ey wulet dedl

-

87
(A) 3l 3 e ¥l

(B) 3. 5 cvfl 10 @l ¥4
(C) 3. 3 Al 5 v ¥l

(D) 3. 3 arfl 7 arm Yol



11. The Leontief peradox stated that :

12,

(A) USA’s exports were labour-
intensive and imports were

capital-intensive

(B) USA’s exports were capital-
intensive and imports were

labour-intensive

(C) USA’s exports and-imports both

were capital—intensi\fe
(D) None of the above
Lorenz curve is a éraphic method
of studying :
(A) Disperson
(B) Index numbers
(C) Averages

(D) Correlation

Economics—I1

11.

12.

lui-dls Lisia sald © 3 :

(A) USA. -l sl suuy: 24

it 4SluR edl

(B) US.A. sl ysluyr 2

wUidl 3UUYR &l

(C) U.S.A. Al lsnidl v 2l

3oluyR edl

() Guanidl sisua dl

Al as s s RO ¥ ...
Al U 53 O.

(A) MM

(B) yus #ti.a

(C) A

(D) UsALY

{(P.T.O.]



13. Which of the following costs always  13. %% Gcwlert afl & qu DAl syt w

declines as output increases ? Add He 97

(A) Average variable cost (A) 3w »>Ruz waf
(B) Average cost (B) A lftli

(C) Fixed cost (C) Rar v

(D) Average fixed cost | D) uivw Rz wy

14. Who has taken the first attempt 14 oyaqsi »ulls suaioefl was U3t

to initiate economic planning in “ a
planning A9 531 odl?

India ?

(A) Zdigald 4y
(A) Jawaharlal Nehru

‘ B) »u. dladsql
(B) M. Visvesvaraya ® a2

(C) Balwantrai Mehta | (C) oladdRIy Hddl
(D) Vallabhabhai Patel (D) qc.qo.lg.uis 1{}(1

15. In case of Keynes theory, ONEY 15, ¥Suru Rugiani wmuet yaasid as :

supply curve is :
(A) dot ¢la & (Gl 9 uMidr)
(A) Vertical

' B) [Blax i Y
(B) Horizontal (B) lalaam wld? ey

(C) Upward sloping (C) Gua-l suxa sadl €in B

(D) Downward sloping (D) Al sux el €lu &

Economics-II 8



16. Which of the following statements

- 17.

is true ?

(A) Giffen goods have positive

substitution effect

(B) All inferior goods are Giffen .

goods

.(C) Giffen goods have positive

income effect and negative

substitution effect

(D) All Giffen goods are inferior

goods

The speculative demand for money,

according to Keynes, is a function

cof :

(A) Level of income
(B) Level of output
(C) Level of savings

(D) Rate of interest

Economics—I1

16.

17.

{2A-unidl 53 [&Euﬂ A 97

(A) [51#% qég,a:ﬁ-{l 23 AR Ul GIY
2]

(B) ol gasmmrﬂ qeg,z»& Brg«
aagall G B

(C) Buge argil-ll 2lias 22 4t ¢ld

B A iAW AU KA Y B

@) adl ¥ [_Stw argl wasl ustl
Rl iy &

3Seatrit Ml A5l dg Ml il Hio

.......... 4 @Ay 8.

(A) 2uasdl awd

(B) Gewtgar oeudl awdl

() oasdl awdl

(D) el 8R

[P.T.O.]



18.

19.

20.

Which Prime Minister has adopted

- the strategy of Rolling plan ?

(A) Jawaharlal Nehru
(B) Dr. Manmohan Singh

(C) Rajeev Gandhi

(D) Morarji Desai

In the Keynesian model, macro-
economic¢’ equilibrium can take

place at :

(A) Less than full employment

| (B) Potential output

(C} Full employment
(D) Natural rate of unemployment

Government debt-to-GDP ratio in

- 2016 is :

(A) 69.1%

- (B) 42.0%

(C) 68.5%

(D) 54.2%

Economies—II
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18.

19.

20.

sul asiua Al il yeuqy

sludldl edl?
(A) wasrAld 183
(B) si. ridieRis

(C) Awa il

(D) MW 2

35t Hisanl anaiadl 2ufls wuga

503 wsy oA Q7

(A) el Rigouila

(B) dotlAd sy Ganen
© el el
M) gerdl A5l €3

2016 4i #2513l &4 GDP <1 J2al 251

&7

(A) 69.1%

(B) 42.0%

(C) 68.5%

(D) 54.2%



21. Which of the following means

22,

“Globalisation of Indian Economy” ?

(A) Establishing Indian business

units abroad

(B) Minimum restriction on
economic relations with other

countries

(C) Increase in external borrowings

(D) Reduction in tariffs

The law of diminishing (Marginal)
returns states that as more of a
variable factor is added to a certain
amount of a fixed factor, beyond

some point :

(A) Total physical product begins
to fall
(B) The marginal physical product
| rises
(C) The marginal physical product
falls |
(D) the average physical product

falls

Economics-I1
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91. opadla wddad dABas@ fA-uuiedl 59

oo culd 97?

(A) Rzaui ewxdla vl sl

aa

(B) [amail 2=y 22l Wl »Wls
delaul Yridd [rai

(C) ou& s alRl

(D) Fsidul w218l

22, gedl (alldid) anaz-ll R suld & 3

Ry awaddl 24s silal o wd

wRe? amﬁ-j, g uHie Gl 2ud

dl Ay Assu Big ul -

(A) sd oillas Gouled ueary U3
)

(B) Wi olllas Gewten qﬁ\@

(C) A oﬁ[a,ss Beutert 42 B

(D) a3 ollRs Goued 42 8

[P.T.O.]



23. Given the consumption function :  23. »ula quza R4y

C = 500 + 0.75Y C =500 + 0.75Y
what is the multiplier : | 8 ol yaisl Bua g <in?
(A) 4 (A) 4
(B) 04 (B) 04
(C) 25 : (C) 25
@ 0.25 D 0.25

24. Agriculture sector will grow by what 24, edla vleust 2017 i s Asi

percent in 2017-18 as per Union ~2017-18 s3u14 Jedl ql& €2 vlelrami
Budget 2017 ? Wil 7

(A) 3.8% | (A) 3.8 28t

(B) 4.1% (B) 4.1 241

(C) 4.5% (C) 4.5 25

D) 46% D) 4.6 251

25. 1If income elasticity of demand is  25. R ol uqs Aladl GAl Sl dl

hi : o 1
igh (A) 592Ul &3 "2SA) RSN

(A) Tax rates should be decreased . N
(B) $9RUAL 82 aqidl RS9
(B) Tax rates should be increased

(C) $2A3 algal ASN d]
(C) Tax should not be imposed

(D) None of the above D) Gursiefl As uwt d

Economics—II 12



26. In which of book Dadabhai Naoroji . = ,
26. 39S WRsl Slelons AaRimBl tirduid]

theorised the drain of wealth from
_ | Aufiu sl Rigla 29 s3a B,
India ? Rigi 29 53e ©

(A) Poverty and Drain of Wealth in (A) o0Aa euami adlell vl YuRid

British India _
Qe
(B) Poverty in India - '

(C) Poverty during British Rule in (B) oitactui Aol

India ) :
(C) ofLaMi oflélet - s adle]l

(D) Poverty and Un-British Rate

_ . M) A6 4, (B olla 2tuel oedul
1in India

27. When interest payments are 27. %03 uxsila vuesidl -l ysaul

substracted from fiscal deficit, the 16 53l 6Lk 23 O AN ... sdaw .

" reminder is .called.as :.
(A) ~waLsd v
(A) Monetized deficit

(B) udydl v
(B) Revenue deficit
(C) Primary deficit : ©) }ilﬂ‘-ﬂ& ILH

(D) None of the above D) Gunill s w Al

‘Economics—II 13 - [P.T.O.]



28, Given "the total 1investment 28. ogqli gc_l Q‘Lgsug'_ 1,[:;[ ﬁ__@lz @:l?*l Q"l'q.

nditure an increase in the _ . .
oEPe | g [RHL ARt Ay dl

propensity to save will lead to a :

(A) UasMi QR
(A) Rise in income

(B) »UasMl Y218l

(B) Fall in income

' (C) %+l &4l ya1s)
(C) Fall in the rate of interest

(D) Rise in inﬂation (D) FAUAUML aqLRL

29. In Paul Sweezy model of 29 e Al sieusrs Sl el

. .o = . . - . ’ .
oligopoly in kinked demand curve Ml i leud' wiag Mg

o suld 9.
the point of kink represents :

(A) wlHBUcs Asdl
(A) Quantity rigidity :

. (B) [3ud sl
(B) Price rigidity
(©) ot (Bud oSl 2l uBuaucs
(C) Both price and quantity rigidity _
. | %Sl

(D) Only price rigidity |
(D) W [3ud ¥sc

Economics—II : 14



30. Which of the following measures of

31.

)

central fendency will be the most

appropriate to use if the variable is

measured on nominal scale ?

(A) Median

(B) Mode

(C) Aﬁfhmetic Mean

(D) Geometric Mean "

P;)verty Gap is : -

(A) Gap between the haves and
have-nots |

(B) Gap between developing

nations and developed nations

(C) The difference between poverty
line and actual income levels of

all those living below that line
Gap between service delivery in
developi'ng_ nations and

developed nations

Economics—II

31,
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30. R a1l (Ul Be) 2iBa HuHi

Wyl 2y Sld di NA-usiel 3y

ceRul HHi] 53 2y ag Uidy ARdL?
(A) HEMRY

(B) sgds

(C) 2iso[Bld neus

D) oy Heus

A6l dasaa Aed :

(&) e wd wflz add 2idz
(B) [swlla i QAslld s qmg

iR

() alell Ivi A wadl ¢lu vl

windl was s AL vl

wlds _qmil{‘t asldad

Y

) Rl 270 Qs WHdl 2l 92

Rzl Gueed s31adidl dsldd

[P.T.O.]



32.

33.

Maximum rate of tariff India can
levy on edible oil under WTO

Agreement on Agriculture is :

(A) 200

(B) 250
(C) 300
@) 225

Put the 'f(')llqwing in chronoclogical

order :

(1) Setting up of the National

Development Council

(2) Constitution of National
- Planning Committee by the
Indian National Congress

under Jawaharlal Nehru

(3) Planned Economy for India by

Visvesvaraya

(4) Bombay Plan

A) 3), (2), @), (1

B) (1), @), (3), 4)
©) ), @), ), 3)

D) ), (D), D), (®)

Economics—I1
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32.

33.

@

- (B)

WTO $2u3 354 5N &1l vied ad GuR
ol gLl Mgy 2l wsid uell as?
(A) 200

(B) 250

(C) 300

D) 225

A $H AR Ml

(1) -Qt[t‘a,?t [Qstn s1G=llax] #uu-u
232y

gt sy

olel - dla Nl S9N g2l

FAUSAL AT S50

(3) ouzadl 2ufds dig—{Arduqn

gl
@) Hois et
(A) (3), (2), (4), (1)
(1), (2), (3), (4)
(C) (1), (B, (D), (3)

@) (2), 4), (1), (3)



34.

35.

Comparative cost advantage in
Ricardo’s International Trade

theory arise; due to :

(A) Differences in labour cost

(B) Factor endowment differences
(C) Differences in transport cost

(D) Factor abundance defined in

term of factor pricés

The short run average cost curve

is ‘U’ shaped because :

(A) of the law of variable proportion
(B) of thé existence of fixed cost

(Q) to the existence of variable cost

(D) All of the above

Economics—II
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34.

35.

Astell wid ARy 2wz Ratdnl

ddritets vdat Getd § o M2
(A) anwdul astad

(B) Gewie-l 14l WHIRAL aslad
(C) atsrl HASIRML d$lad

(D) wasdill Fadla sl nyedl

adly apvdld 53 9

astouadl A3 wi i U 2Rl
8 g LW :

(A) ardl el Reid 8

.(B) [i?u wiy 2Rdc 8

(C) adld wdd xR &

4

(D) Gu-L sy

[P.T.O.]



36. If the mean, median and mode of  36. % eus, By A GlgUs AU iy dl

a data set are equal then, which of AR Qae deeldi DAl 59

the following is true with regard to ouotd, 1l £97?

the distribution of the data ?

(A) -t [Awial suld &
(A) It is positively skewed

) (B) AMHIGAUAL S1Y D
(B) It is asymmetrical

(C) It. is symmetrical (C) AMHRAAIAN SiY
(D} It is negatively skewed D) w2 Qval sufd &

37. Floating exchange rate became 37. dRe (MY e yeu-y 94y

common in :
(A) 1950s
(A) 1950s
' (B) 1960s _
(B) 1960s
(C) 1980s (C) 1980s
(D) 1970s (D) 1970s

38. The Laffer curve explains the 38. &% as -l 5§ A aqall-
relationship between which of the doiall wrogdl 2 @7

following : . .
(A) goual ux s
(A) Inflation and unemployment

- (B) 5431 ¥A Qg -
(B} Tax rates and unemployment

(C) Tax rates and income (C) $Q3L ¥ 2uqs

(D) Tax rates and tax revenue (D) 5392 A $204s

Economics—II ' 18



39.

40.

41.

Which of the following distribution
function has equal mean and

variance ?

(A) Poisson

(B) Binomial

(C) Norrﬁal

(D) Hyperg;zometric

All of the following are examples of

regressive taxes except :
(A) Customs Dutjes

(B) Excise Taxes

(C) VAT

(D) Income Tax

Under the Bretton Woods system

the long term development

assistance was to be provided by :
(A) IMF

(B) IBRD

(C) IDA

(D) All of the above

Economics—1I
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39.

40.

41.

DAl sw [@Adza QAL s
AR Qe qvw sy 87

(A) Yiyu

(B) cuariixllaa

(C) e

(D) sy zﬂaﬁgls

DAl sul svalkia (Ruwd)

4] :

(A) 2ltad st

(B) wuast]l #sld

(C) Q2

(D) 2uds AR

oflengs wgla Ss0 aiawcnourl Qs

........ g2l snarii 2ud 8.
(A) IMF
(B) IBRD
(C) IDA

(D) GuAlL o4

[P.T.O.]



42.

43.

What does stratified Random

Sampling refers to :

(A) Equal probability of selection of

an item in a trial

(B) Equal probability of each item

from each stratum

(C) Random selection of first and

systematic of the rest
(D) Random selection of all items

Which of the following represents

the concepts of human capital ?
(A) Total human resources

(B) Human resources gainfully
employed in
activities

(C) Total population

(D) All of the above
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44, The ti'agedy of commons results
when a good is :

(A) Rival in consumption and not

excludable

(B) Excludable and not rival in

consumption

(C)

Both rival in consumption and

excludable

(D)

Neither rival in consumption

nor excludable

45. Which of the following is an ideal

index number ?

(A) Fisher

(B) Bowley

(C) Laspeyre

(D) 'Marshall-Edeworth

46, Who has given the concept of single

factor and double factoral terms of

trade ?

(A) Joan Robinson
(B) Snider

(C) Jacob Viner

(D) P. A. Samuelson
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47. A pure public good is characterised

48.

Economics—II

by :
(A) Either non-rivalry in use or

failure of exclusion

(B) Both non-rivalry in use and

failure of exclusion

©

exclusion

(D) Both rival in consumption and

exclusable

What is the central idea of the

theory of comparative advantage ?
(A) Trade is zero-sum game

(B) All resources are of the same
quality

(C) Potentiél world production is
greater with unrestricted free

trade than it is with restricted

trade

(D) Countries are similar in their
ability to produce goods.

efficiently

Rivalry in use and ability of .
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49. What does an increase in -the

50.

- _,f
by

ratio of revenue deficit to gross

fiscal deficit indicate ?
{A) An increase in investment

(B) An increase in the utilization

of borrowed funds

(C) An increase in the utilization

of borrowed funds for imports

(D) An increase in the utilization

of borrowed funds for lending

Which of the following union budget
has given the highest over allocation

for MGNERGA ?
(A) Budget 2016
(B) Budget 2015.
(C) Budget 2017

(D) Budget 2014
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(A) »ielrus 2016

| (B) »itlwya 20156

(C) wietwws 2017

(D) »islwrvua 2014
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